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SERRSAE10 A 28 H HLLE| SErk64R6 4 30 H #4E | sEake4:12 8 31 B 37 | Epk 7476 4 30 H 87| SEak74:12 8 31 B 34E | EA8aE6 H 30 H 75 | Eaksse124 31 B 3i7E | SERk94E6 4 30 HEE | Fakot12 831 B 87E | EAk104:3 431 B EE | SErk104:6 A 30 B EU7E | k1042129 31 1 8ge | Prk1 14212 7 31 0 8ige | wakize12 31 A sie | 1342120 31 R e | Epk 14456 71 LR 37| a1 443 1 31 e[ Eak1a4m 12 31 B sige | SP0k1543 1 31 H e
= 4 (1993) (1994) (1994) (1995) (1995) (1996) (1996) (1997) (1997) (1998) (1998) (1998) (1999) (2000) (2001) (2002) (2002) (2002) (2003)
AH (%) | AB [ ()| AB [ ()] AB [ )| AR | ()] AR | ()] AB (0] AA [ (] Aa [ (] A8 [ A [ A [ | A [ )| Aa | (B[ Aa | )| Aa [ (| AB [ )| AB | (%) ]| Ad | (%)
=8 153 100.0 163] 100.0 209( 100.0 255( 100.0 171] 100.0 162 100.0 200] 100.0 2041 100.0 217] 100.0 2321 100.0 2531 100.0 261] 100.0 2571 100.0 2621 100.0 2741 100.0 2281 100.0 2561 100.0 2201 100.0 2171 100.0
P 43 28.1 36| 22.1 35| 16.7 38| 14.9 28| 16.4 31 19.1 41| 20.5 40| 19.6 441 20.3 52| 22.4 53| 20.9 56| 21.5 541 21.0 50 19.1 58| 21.2 67| 29.4 60| 23.4 74| 33.6 71| 32.7
T4 59| 38.6 69 42.3 104 49.8 134] 52.5 68| 39.8 501 30.9 63| 31.5 571 27.9 69| 31.8 69| 29.7 84| 33.2 99 37.9 107 41.6 104] 39.7 125| 45.6 78| 34.2 109| 42.6 71| 32.3 66 30.4
TN 71 4.6 141 8.6 25| 12.0 27] 10.6 31| 18.1 401 24.7 56| 28.0 63| 30.9 53| 24.4 58] 25.0 63| 24.9 53| 20.3 38| 14.8 51 19.5 33| 12.0 191 8.3 241 9.4 18 8.2 25| 11.5
WHRIE | PR 25| 16.3 22| 13.5 26| 12.4 211 8.2 20| 11.7 17( 10.5 17 8.5 17 8.3 16 7.4 17 7.3 17 6.7 18| 6.9 18 7.0 16 6.1 171 6.2 19| 8.3 18 7.0 14| 6.4 13| 6.0
A 1| 0.7 2 1.2 3 14 3 1.2 3l L8 41 2.5 3] 1.5 3 1.5 41 1.8 41 1.7 4 1.6 4 1.5 6] 2.3 M 2.7 71 2.6 6] 2.6 7 2.7 71 3.2 71 3.2
ARRT 3] 2.0 41 2.5 2] 1.0 2] 0.8 2l 1.2 1 0.6 3l L5 9] 4.4 10 4.6 10 4.3 10 4.0 9] 3.4 11 4.3 14| 5.3 14| 5.1 171 7.5 17 6.6 10| 4.5 11 5.1
K 10| 6.5 12 7.4 9 4.3 16 6.3 6] 3.5 8] 4.9 6] 3.0 71 3.4 71 3.2 71 3.0 71 2.8 8] 3.1 6] 2.3 6] 2.3 6] 2.2 6] 2.6 7 2.7 8] 3.6 8| 3.7
~NMA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3] L3 0.0 6l 2.7 6] 2.8
Vvl 1 0.7 11 0.6 0.0 2] 0.8 3] 1.8 11 0.6 2] 1.0 1 0.5 11 0.5 11 04 11 0.4 0.0 3] 1.2 3l 1.1 2l 0.7 2l 0.9 2] 0.8 2l 0.9 2l 0.9
RIET 0.0 0.0 0.0 4] 1.6 41 2.3 6] 3.7 4 2.0 3 1.5 4 1.8 41 1.7 6] 2.4 7 2.7 71 2.7 8l 3.1 6 2.2 6] 2.6 71 2.7 3 14 3 14
A= 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.4 1 04 1 04 11 0.4 1 0.5 1 0.5
)T 1 0.7 1 0.6 1l 0.5 1 0.4 1l 0.6 1 0.6 1 0.5 1 0.5 1 0.5 1 04 1l 0.4 1l 04 1l 0.4 1l 04 1l 04 1l 04 1 0.4 1| 0.5 1| 0.5
NTITA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A=A T 2l 1.3 11 0.6 3 1.4 5 2.0 2l 1.2 0.0 1 0.5 0.0 2l 0.9 2l 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RA> 1 0.7 11 0.6 1l 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Za—Y" =V 0.0 0.0 0.0 11 0.4 0.0 0.0 1 0.5 0.0 0.0 0.0 0.0 1l 04 1l 0.4 1l 04 1l 04 1l 04 1 0.4 2 0.9 2 0.9
SE[E] 0.0 0.0 0.0 1 0.4 2l L2 2l 1.2 1 0.5 1 0.5 0.0 0.0 0.0 0.0 0.0 0.0 1 04 1 04 11 0.4 1 0.5 1 0.5
~J— 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2] 0.9 3 1.3 3] 1.2 3| 1.1 3] 1.2 0.0 2l 0.7 1 0.4 1 0.4 2l 0.9 0.0
TATUN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.5 11 04 11 0.4 2l 0.8 2] 0.8 0.0 0.0 0.0 0.0 0.0 0.0
AN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 0.5 1 0.5 1 0.4 1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANVTUN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11 0.5 11 04 11 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 0.5 1 0.5 1 0.4 1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TR 0.0 0.0 0.0 0.0 0.0 0.0 11 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7=y 0.0 0.0 0.0 0.0 1 0.6 1 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NI TGT Y
)N
BT
BiE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Fhe'T
TVE Ty
7Y
<V=v7
F=7N
A2V
JANIRYY
Veadl
9%
AT
ANA Y
A =T
P YNIu| 28,820 —| 28,698 —| 28,800 —| 28,699 —| 28,622 —| 28,403 —| 28,410 —| 28,305 —| 28,196 —| 28,101 —| 28,091 —| 28,088 —| 27,762 —1| 27,659 —| 27,308 —1 27,387 —| 27,153 —1| 26,986 —1 26,814 —
SEAEIE (%) 0.5 — 0.6] — 0.7 — 0.9 — 0.6 — 0.6] — 0.7 — 0.7/ — 0.8 — 0.8 — 0.9 — 0.9 — 0.9 — 0.9 — .ol — 0.8 — 09 — 0.8 — 0.8 —

(20C

BRI
226
86
57
26
13
7
14
9
6

26,650
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31 A BIE| TRk 16453 1 31 HERAE | k1648129 31 A B7E| SRk 17473 71 31 A HULE | SRk 174R 129 31 A B7E | Fpk 18473 71 31 A BI7E| Rk 184E12 7 31 H H7E | SEak194F3 1 31 B BI(E | Tk 194812 31 A B4 | SPAR204E3 ] 31 F BIFE | k204124 31 A HAE| ERR214E3 H 31 B 34 | rk214£12 1 31 A 7R | SERk224E3 A 31 A BIME | rk224E12 1 31 A H7E| k23453 A 31 A BIE | Trk234E12 1 31 A 37E| Emk244E3 A 31 A BIME | Trk244£12 7 31 A BRAE| SERk254E3 A 31 A BIAE | FRk254E1241 31 HHAE
EH 4 3) (2004) (2004) (2005) (2005) (2006) (2006) (2007) (2007) (2008) (2008) (2009) (2009) (2010) (2010) (2011) (2011) (2012) (2012) (2013) (2013)
(%) A (%) N =] (%) N =] (%) Ab (%) | AO (%) N =] (%) NE| (%) An (%) An (%) An (%) A (%) An (%) N =] (%) Anf (%) N =] (%) An (%) N =] (%) An (%) N =] (%) An (%)
'8 100.0 238] 100.0 246| 100.0 259] 100.0 255] 100.0 250| 100.0 256 100.0 249 100.0 243] 100.0 220] 100.0 256| 100.0 266/ 100.0 231] 100.0 236/ 100.0 230] 100.0 219( 100.0 218] 100.0 215( 100.0 214] 100.0 210( 100.0 212] 100.0
HIE 38.1 88| 37.0 100[ 40.7 104 40.2 118[ 46.3 121| 48.4 128[ 50.0 133| 53.4 120 49.4 107| 48.6 144 56.3 155 58.3 135 58.4 134 56.8 136 59.1 131 59.8 135[ 61.9 130| 60.5 134 62.6 131] 62.4 124 58.4
T4V 25.2 62| 26.1 57 23.2 61| 23.6 48[ 18.8 48[ 19.2 48| 18.8 44| 17.7 46| 18.9 44| 0.2 45| 17.6 48| 18.0 43| 18.6 43| 18.2 41| 17.8 36 16.4 34| 15.6 34[ 15.8 30( 14.0 30[ 14.3 30| 14.2
TIVN 11.5 30| 12.6 31| 12.6 34| 13.1 29 11.4 25 10.0 33 12.9 32 12.9 36| 14.8 31| 14.1 27| 10.5 21 7.9 11| 4.8 0] 4.2 9] 3.9 9| 4.1 8| 3.6 8l 3.7 71 3.3 4 1.9 4] 1.9
HEE | HIRE 5.8 13| 5.5 14| 5.7 14| 5.4 16| 6.3 14| 5.6 11| 4.3 9| 3.6 9| 3.7 10| 4.5 9| 3.5 10| 3.8 11| 4.8 11| 4.7 11| 4.8 11| 5.0 12| 5.5 14| 6.5 16| 7.5 17 8.1 22| 10.4
ZA 3.1 8| 3.4 8| 3.3 1| 4.2 12| 4.7 11| 4.4 12| 4.7 13| 5.2 13| 5.3 13] 5.9 14| 5.5 15| 5.6 15| 6.5 15| 6.4 15| 6.5 14| 6.4 13| 5.9 13| 6.0 13] 6.1 14| 6.6 16| 7.5
ARFT 6.2 12| 5.0 12| 4.9 11| 4.2 8l 3.1 71 2.8 4 1.6 4 1.6 4] 1.6 1l o5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
K[ 4.0 9| 3.8 9| 3.7 71 2.7 71 2.7 71 2.8 71 2.7 4 1.6 5 2.1 5/ 2.3 8| 3.1 8l 3.0 8| 3.5 9| 3.8 9] 3.9 10| 4.6 9| 4.1 9| 4.1 9| 4.1 9| 4.2 8| 3.8
NS 2.7 6] 2.5 5/ 2.0 71 2.7 71 2.7 5 2.0 2] 08 2] 0.8 2| 0.8 2| 0.9 2| 0.8 2] 0.8 1| 04 1| 04 1l 04 ol 0.0 0.0 0.0 0.0 0.0 0.0
Vs 0.0 0.0 2| 0.8 2| 0.8 3 1.2 3 1.2 1| 04 1| 04 1| 04 [ o5 0.0 0.0 1| 04 4 1.7 1| 04 1| 05 [ 05 1| 05 0.0 0.0 0.0
RIe7 1.3 4 1.7 4] 1.6 4l 1.5 2| 0.8 3 1.2 1l 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EINS 0.9 2| 0.8 1| 04 1| 04 1| 04 1| 04 2] 0.8 1| 04 1| 04 [ o5 2| 0.8 2] 0.8 2] 0.9 2| 08 2| 0.9 2l 0.9 2] 0.9 2l 0.9 2] 0.9 2l 1.0 2l 0.9
AT H 0.4 1| 04 1| 04 1| 04 1| 04 1| 04 1l 04 1l 04 1| 04 1l o5 1| 04 1l o4 1| 04 1| 04 1l 04 1| 05 [ 05 1| 05 [ 05 0.5 [ 05
NIYTA 0.0 1| 04 1| 04 1| 04 1| 04 2| 0.8 2] 0.8 1| 04 1| 04 [ o5 1| 04 1 o4 1| 04 1| 04 1| 04 1| 05 [ 05 1| 05 0.0 0.0 0.0
A=A T 0.0 0.0 0.0 0.0 1| 04 1| 04 1l 04 1l 04 1| 04 1l o5 1| 04 1l o4 1| 04 3] 1.3 2] 0.9 21 0.9 [ 05 1| 05 [ 05 1| 05 2| 0.9
RA 0.0 0.0 0.0 0.0 1| 04 1| 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Za—y =N 0.4 1| 04 1| 04 1| 04 0.0 0.0 0.4 1| 04 0.4 0.5 1| 04 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 [ 05
SE[E] 0.4 1| 04 0.0 0.0 0.0 0.0 2] 0.8 2] 0.8 2| 08 1| o5 1| 04 1 o4 1| 04 1| 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~L— 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1l 0.4 1| 04 [ o5 1l 05 [ 05 1l 05 [ 05 1l 05
TANVTN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TTIA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NITT Y
)N
BT
B 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 [ 05
Fhe'T
ThvE Ty
7Y
2V=y7
F=7N
AZIT
R NF ALY
Veas
%
vz
ANA Y
A =T
P YN —| 26,538 —| 26,408 —| 26,265 —| 26,080 —| 25,875 —| 25,618 —| 25,455 —| 25,296 —| 25,110 —| 25,087 —| 24,969 —| 24,769 —| 24,618 —| 24,446 —| 24,252 —| 24,014 —| 23,834 —| 23,602 —| 23,378 —| 23,118 —
SAEAFIE (%) — 0.9 — 0.9 — 1.0 — 1.0 — 1.0 — 1.0 — 1.0 — 1.0 — 0.9 — 1.0 — 1.1 — 0.9 — 1.0 — 0.9 — 0.9 — 0.9 — 0.9 — 0.9 — 0.9 — 0.9 —
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SERR264E3 A 31 H BUE | FRk264E12 8 31 HELFE| ER274E3 H 31 H BLLE( R27412 4 31 7 BITE | pk284E3 A 31 H BU(E| Fnk284212 31 A BIE| pk294=3 4 31 H BUE | 29412 4 31 H BU(E | SEA304E3 A 31 HBITE| A304E128 31 A BIE| A3 1423 H 31 HBUME| Arfrocss12 31 FERAE | 4Fn24E3 1 31 B BUE[ AFI34E3 1 31 H BUE A F1342 124 31 A BUE| 1442311 31 H BUE| S F144212 4 31 A BUE| HFI54E3 1 31 H BUE | 5542121 31 A BUE | A 16437 31 HHAE

= 4 (2014) (2014) (2015) (2015) (2016) (2016) (2017) (2017) (2018) (2018) (2019) (2019) (2020) (2021) (2021) (2022) (2022) (2023) (2023) (2024)
A (%) | An (%) | Ao | (%) | Ao [ ()] Ao | (%) | Ab | (%) ] Ab | (%) | Aa | (%) | Ad [ )| Ao [ )| A [ )| Ao [ )| Ao [ )| Ao [ ()] Ao [ (%) ] Ao | ()| Ao ] )| Ao | (%) ]| Ao | (%) | Ao | (%)
FoREY 215 100.0 223 100 212] 100 216] 100 214] 100 204] 100 2101 100 209] 100 206] 100 227]100.0 222]100.0 271]100.0 2481100.0 230]100.0 223(100.0 219(100.0 260(100.0 238(100.0 279(100.0 261(100.0
P 1271 59.0 133] 59.6 126] 59.4 115] 53.2 118] 55.1 117] 57.4 120] 57.1 103] 49.3 93| 45.1 85] 37.4 86| 38.7 91| 33.6 891 35.9 83| 36.1 71| 31.8 64| 29.2 66| 25.4 56| 23.5 55| 19.7 60| 23.0
T4 31| 14.4 30| 13.5 30| 14.2 29| 13.4 29| 13.6 29| 14.2 29[ 13.8 30| 14.4 29| 14.1 31| 13.7 31| 14.0 30( 11.1 30 12.1 30| 13.0 30| 13.5 29| 13.2 31| 11.9 30| 12.6 28| 10.0 28| 10.7
TN 41 1.9 4 1.8 41 1.9 6 2.8 6 2.8 6 2.9 6 2.9 8 3.8 8 3.9 51 2.2 5[ 2.3 8 3.0 71 2.8 5 2.2 5 2.2 5[ 2.3 6 2.3 71 2.9 6 2.2 5[ 1.9
i | R 211 9.8 21 9.4 211 9.9 23| 10.6 20| 9.3 14] 6.9 14] 6.7 151 7.2 16] 7.8 19] 8.4 19] 8.6 19] 7.0 171 6.9 23| 10.0 25| 11.2 26| 11.9 23| 8.8 22| 9.2 23| 8.2 200 7.7
A 171 7.9 17 7.6 15] 7.1 15] 6.9 15] 7.0 15] 7.4 15] 7.1 151 7.2 15] 7.3 16] 7.0 15] 6.8 16] 5.9 16] 6.5 16] 7.0 18] 8.1 18] 8.2 18] 6.9 18] 7.6 19] 6.8 19] 7.3
ARRT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7 2.7 71 2.9 15] 5.4 171 6.5
K 8 3.7 6 2.7 6 2.8 7 3.2 71 3.3 5[ 2.5 6 2.9 5 2.4 6 2.9 71 3.1 10] 4.5 9 3.3 9 3.6 6 2.6 71 3.1 8 3.7 9 3.5 10] 4.2 13] 4.7 12] 4.6
~NMA 0.0 2 0.9 21 0.9 3 1.4 3 1.4 3 1.5 [ 0.5 71 3.3 71 3.4 8| 3.5 8 3.6 17] 6.3 13] 5.2 14] 6.1 11] 4.9 11] 5.0 12] 4.6 12] 5.0 19] 6.8 8 3.1
Vvl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3 1.3 4 1.8 21 0.7 31 1.2 1| 0.4 21 0.9 21 0.9 41 1.5 41 1.7 5[ 1.8 5[ 1.9
RIET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A= 2 0.9 2 0.9 21 0.9 21 0.9 21 0.9 1| 0.5 1[ 0.5 11 0.5 1] 0.5 21 0.9 2 0.9 3 L1 31 1.2 1| 0.4 1| 0.4 1l 0.5 1] 0.4 1] 0.4 1] 0.4 1] 0.4
)T 11 0.5 1 0.4 1] 0.5 1] 0.5 1] 0.5 1| 0.5 [ 0.5 11 0.5 1] 0.5 1| 0.4 1] 0.5 21 0.7 2 0.8 21 0.9 21 0.9 21 0.9 1] 0.4 1] 0.4 1] 0.4 1] 0.4
NTITA 0.0 0.0 0f 0.0 0.0 0f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A=A T 2l 0.9 4 1.8 41 1.9 5 2.3 3 1.4 3 1.5 5 2.4 111 5.3 12] 5.8 25( 11.0 16] 7.2 30( 11.1 221 8.9 9 3.9 11] 4.9 11] 5.0 30| 11.5 22| 9.2 26] 9.3 200 7.7
RA> 0.0 1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1] 0.4 1] 0.4 3 1.1 21 0.8
Za—Y" =V 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1] 0.5 3 1.3 0.0 [ 0.4 1] 0.4 1l 0.4 1l 0.4 1l 0.5 0.0 of 0.0 1] 0.4 1] 0.4
SE[E] 0.0 0.0 0.0 0.0 1] 0.5 1| 0.5 [ 0.5 2 1.0 5[ 2.4 51 2.2 5[ 2.3 11] 4.1 6 2.4 21 0.9 3 L.3 4] 1.8 4] 1.5 3 1.3 12] 4.3 12] 4.6
~L— 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TATUN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN [ 0.5 1 0.4 1 0.5 1 0.5 1 0.5 [ 0.5 1 0.5 1 0.5 1[ 0.5 1 0.4 1[ 0.5 1 0.4 1| 0.4 1 0.4 1 0.4 1 0.5 1 0.4 1 0.4 1] 0.4 1] 0.4
TANVTUN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 0.4 1] 04 0.0 0.0 0.0 0.0 0.0 1] 0.4 0.0
Nz 0.0 0.0 0.0 8| 3.7 8| 3.7 8] 3.9 9 4.3 71 3.3 9| 4.4 8 3.5 8| 3.6 11| 4.1 11| 4.4 9] 3.9 9] 4.0 9 4.1 7 2.7 71 2.9 41 1.4 7 2.7
TR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1] 0.5 0.0 1] 0.5 0.0 1] 04 0.0 0.0 0.0 4] 1.5 3 1.3 4] 1.4 3 1.1
7=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1 0.4 1 0.4
NI TGT Y 1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1] 0.4 0.0
A 2 1.0 0.0 0.0 6| 2.2 31 1.2 4 1.7 6| 2.7 6| 2.7 6] 2.3 6] 2.5 6] 2.2 6] 2.3
BT 3 1.3 3 1.4 71 2.6 71 2.8 13] 5.7 14] 6.3 14] 6.4 200 7.7 20| 8.4 25 9.0 26| 10.0
B 11 0.5 0.0 0.0 1 0.5 0.0 0l 0.0 1 0.5 1 0.5 1[ 0.5 4 1.8 4] 1.8 3l 1.1 2l 0.8 2] 0.9 2] 0.9 2] 0.9 2] 0.8 2] 0.8 21 0.7 2] 0.8
FET 1 0.4 1] 0.5 1 0.4 1] 04 1| 0.4 1| 0.4 1| 0.5 1] 0.4 1] 0.4 1] 0.4 0.0
TN Ty 2l 09 0.0 2l 0.8 1 0.4 1 0.4 1 0.5 1[ 0.4 1 0.4 21 0.7 2] 0.8
7Y 1 0.4 0.0 21 0.9 0.0 0.0 0.0 0.0 0.0 0.0
<V=v7 1 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
F=7N 1] 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A2V 1 04 1 04 1 0.5 1 04 1 04 1 04 1 04
GANFAL Y 3 L3 1| 0.4 1l 0.5 0.0 0.0 0.0 0.0
Vsl 1 0.5 0.0 0.0 0.0 0.0
5% 1] 0.4 1] 0.4 1] 0.4 1] 0.4
Az 2] 0.8 1 04 1 04 0.0
ANA Y 1] 0.4 0.0 0.0 0.0
AYx—T" 1 04 0.0
P YNIu| 22,970 —| 22,769 —| 22,587 —1 22,330 —| 22,124 —1 21,845 —1 21,684 —1 21,486 —1 21,344 —121,112 —1 20,925 —1 20,749 —1 20,550 —120,214 —1 20,059 —1 19,909 —1 19,704 —1 19,462 —1 19,215 — 19,026 -
SEAEIE (%) 09 — 1.0 — 09| — 1.0  — 09| — 0.9 — 1.0]  — 1.0 - 1.0]  — 1.1 — 1.1 — 1.3 — 1.2 — 1.1 — 1.1 — 1.1 — 13| — 1.2 — 1.5 — 1.4 —
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